D1vISION WITH A REMAINDER IT (H - SET 1)

DIVISION WITH 1 TO 10 Hame:
Time: Score: y—

o) 25389 -4 = 106) 3500 + 1 =
92) 5842 + 2 = 1) 29 +2 =
93) 13245 =— 2 = 08) 15972 =5 =
o) 17679 + 8 = 109 43697 + 6 =
95 20749 =9 = 10 15606 + 5 =
96) 10739 = 5 = 1y 31094 =5 =
or) 15180 + 2 = 12 5739 +1 =
%) 14136 =4 = 13 17850 +9 =
99) 14434 = 7 = 1441012 = 10 =
00 67074 + 9 = ) 8778 + 3 =
10 13810 = 9 = 116) 21283 =7 =
102) 11215 +9 = 17 5398 + 2 =
103) 19637 =4 = 1s) 52700 + 7 =
101 63507 =7 = 19) 45774 = 8 =
105 12078 = 3 = 1200 27154 =4 =

Mathematics: Division - Level 8 - Horizontal - Set 1
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